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Sample 1: Select the best correction/s for an error (or errors).

Read this paragraph.

(1) With its luscious trees and grassy fields stretching like a green ribbon across Manhattan,
New York City’s Central Park is a natural oasis amid the bustling city. (2) While more

than 25 million people visited the park each year, they are also a temporary home to an
abundance of migratory birds. (3) During the spring and fall migrations, the park becomes a
bird watcher’s paradise, prompting scores of avid birders with binoculars in hand to flock to
it. (4) More than 270 species of birds, including swallows, thrushes, and at least 25 different
species of warblers, have been observed making the park their home in the big city.

How should the{ paragraph be revise@'

A. Sentence 1: Change its to their, AND change is to was.

Sentence 2: Change visited to visit, AND change they are to it is.
Sentence 3: Change becomes to became, AND change it to them.
Sentence 4: Change have been to had been, AND change their to its.
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Sample 2: Identify a sentence with an error.

Read this paragraph.

(1) Madison Square Garden is the oldest sports arena in the New York City area, having
opened in 1968. (2) The construction of the Garden caused controversy when portions of the
iconic Pennsylvania Railroad Station were demolished, leading to the creation of a
commission dedicated to preserving New York City’s historic landmarks. (3) Although the
Garden is home to major sports teams and is a frequent host of major concerts, city officials
are concerned that it stands in the way of expanding and modernizing Pennsylvania Station,
which operates beneath the arena. (4) In 2013, the city council voted to give the owners of
Madison Square Garden a 10-year operating permit, meaning that Madison Square Garden
may need to relocate by 2023.

Which sentence)should be revised to correct an error in{sentence structure )

E. sentence 1 ( AN \
F. sentence 2 ( \
G. sentence 3 TS <Rl (3 e A0 e
(B =G TS, TS &lfS wEy I A5, TF 0 20 LN
H. sentence 4 (0 AT G TFARBIC ohge; BY ey T e 4 (2fffag
(514 JEAIE 1 gafs SHirazss FECS), GFD A =19 @ IR
AT BT AFCS 2| FISI 67 7 MY i)
N L J




Sample 3: Improve the writing by combining sentences or revising part of a sentence.

Read these sentences.

(1) Whales are the giants of the ocean, and they spend their lives in underwater song.
(2) They use their voices to attract a mate, call out to one another, and help navigate new
environments.

What is the best way to{combine the sentences)to clarify the relationship between the ideas?

A. Whales are the giants of the ocaan, spending their lives in underwater song, using their
voices to attract a mate, calling out to one another, and helping navigate new environments.

B. Whales, the giants of the ocean, spend their lives in underwater song, use their voices to
attract a mate, call out to one another, and help navigate new environments.

C. Whales are the giants of the ocean, shend their lives in underwater song, use their voices to
attract a mate, call out to one another,\and help navigate new environments.

D. Whales, the giants of the ocean, spend their lives in underwater song, using their voices to
attract a mate, call out to one another, and help navigate new environments.
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Sample 1 Explanation

(B) Sentence 2 of the paragraph should be revised to correct the errors in verb tense and pronoun agreement.
The paragraph is in the present tense, so the past tense “visited” needs to be changed to “visit.” Additionally, the
pronoun “they” needs to be changed to the pronoun “it.” The pronoun refers to “the park,” which is a singular
noun; it does not refer to “people,” which is plural. Option B is correct because the revisions in the option correct
these errors.

Sample 2 Explanation

(E) Sentence 1 of the paragraph should be revised to correct an error in sentence structure. Specifically, the
sentence should be revised to correct a misplaced modifier. As the sentence is written, the phrase “having
opened in 1968" incorrectly modifies “the New York City area” instead of modifying “Madison Square Garden.”
The correct placement of the phrase would change the beginning of sentence 1 to “Madison Square Garden,
having opened in 1968, ..." Option E correctly identifies sentence 1 as having an error in sentence structure.

Sample 3 Explanation

(D) Option D shows the best way to combine these sentences clearly and precisely because it shows the
relationship between the key ideas of whales spending their lives in underwater song and the practical uses of
their song.
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Game Night

(1) Some people think that board games are outdated and boring, unable to provide much
entertainment to today’s electronic-savvy teens. (2) But opening a cardboard box full of
colorful and sometimes elaborate game pieces can offer a refreshing experience, one that
cannot be matched by a video game controller and headset. (3) Playing board games is
really quite fun.

(4) Board games have exploded in popularity in the past several years as people have
discovered how entertaining and interesting a complex or strategic game can be. (5) In the
board game Ticket to Ride, players compete against one another. (6) The goal is to create a
long railway that connects destinations on a map. (7) This requires collecting resources and
building rail lines in strategic places. (8) The game encourages players to think in new ways,
and the brain gets exercise that it needs in order to grow.

(9) Playing board games with others can also help bring people together. (10) When you
take part in a board game, you get to know the other players. (11) People separated by
generations can find common ground across the table from one another when they are all
enjoying the same board game. (12) In addition, playing board games can often encourage
discussion among players about a variety of topics. (13) Some games are even developed as
learning games and aim to teach players about a topic as they play. (14) In a world where
digital interactions tend to occur more frequently than true face-to-face interactions, coming
together in person to enjoy a board game can be a fun way to maintain or create connections
with other people.

(15) In addition to helping people develop relationships, playing board games gives people
an opportunity to hone skills that apply to real life. (16) Competitive board games challenge
people to compete and to use strategies to outwit one another. (17) Cooperative board
games require players to collaborate and to use their individual strengths to achieve a
common goal. (18) The act of playing almost any board game can help a person learn to be
a humble winner and a gracious loser and help improve a person’s focus, self-control, and
critical thinking.

(19) Playing board games is an excellent way to exercise one’s brain, engage with other
people, and practice essential strategies for handling real-life situations. (20) There are
hundreds of competitive and cooperative board games that can provide the ideal balance
between entertainment and challenge.

SIS T512eT IS ATLTS, (T AR Y JAAME, =18, 932 W AR TH WG FCTNF S
Toig o7 | G2 LREIR SATHR G5, AR F[RIBT ETT AT q3% Y512 a0l il oo, @R @a19id @2
4115 IS AACS (FI WD O (151 B! Tt

1. Which revision of sentence 10 %aintains the formal style established in the passag§

A. When you play a board game with people, you become friendly with them.

B. When people participate in a board game, they develop relationships with each other.

C. When people get together for a board game, they learn about each other.

D. When you become involved in a board game with people, you make friends with the players.

11



Which sentence should be added after sentence 18 to help develop the ideas in the fourth paragraph
(sentences 15-18)?

E. Playing board games can teach a person a lot about how to manage the daily obstacles that
are a natural part of life.

F. The skills used to play games can be useful, as almost all occupations require people to make
decisions that can have positive or negative results.

G. People who learn these things will develop strong interpersonal skills, which are an advantage
when developing relationships.

H. Concentrating on a goal, responding well to positive and negative outcomes, and making
logical decisions are valuable skills in many situations.

3. Which concluding sentence would best follow sentence 20 and support the main argument
presented in the passage?

A. People should seek out board games that require players to develop complex strategies to
defeat opponents.

B. People should choose board games that appeal to them and encourage friends and family to
take a seat at the gaming table.

C. People should play board games that involve significant player interaction as they try to
achieve the same or different goals.

D. People should find board games that allow friends and family to reap the benefits of regularly
playing games.

Sample 1 Explanation

(B) Option B is the correct response because this revision uses precise, formal language (“participate” and
“develop relationships”) that maintains the style established in the passage. In addition, this option avoids using
the informal second person (“you”) and instead uses “people” to refer to board-game players, which further
contributes to the formal style.

Sample 2 Explanation

(H) Option H is the correct response because this sentence further develops the ideas that are presented in
sentence 18 (that playing board games can help a person learn to win and lose with grace and can “help improve
a person’s focus, self-control, and critical thinking”). This sentence develops these ideas by explaining that these
qualities are valuable in situations beyond playing board games.

Sample 3 Explanation

(B) Option B is the correct response because it logically follows the description in sentence 20 that there are
“hundreds of competitive and cooperative board games” with the suggestion that a person should choose one
that they find appealing or interesting. The passage explains the benefits of playing board games, and the
sentence in option B supports the main argument of the passage by emphasizing that playing board games is a
fun way to bring people together.
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Snoozing While Soaring

1 Certain types of birds soar for hundreds of miles, over land, over sea—and never stop to rest.
That kind of endurance seems impossible to us, since we as people need time to rest and sleep.
Researchers set out to learn how birds could fly for such long distances without restorative rest.
They found that for some birds, settling in for a good night’s rest is not always a necessity.

2 In 2013 Felix Liechti and his research colleagues at the Swiss Ornithological Institute published
results of a study about the flight habits of Alpine swifts, small birds that migrate annually
between Europe and Africa. Liechti and his team fitted the birds with small electronic tags that
recorded the birds’ acceleration and their pitch, or angle relative to the ground. The data revealed
that the birds remained completely airborne during their time in Africa, a period of over 200 days.
Since all animals require sleep, the researchers inferred that the birds slept from time to time on
their long journey. However, since the electronic tags recorded only movement such as gliding or
flying, and not brain waves, the question of whether birds sleep during flight remained
unanswered.

3 Researcher Niels Rattenborg from the Max Planck Institute for Ornithology also delved into this
question. In a 2006 article Rattenborg explained that it was theoretically possible that birds could
undergo a certain type of sleep while flying. Like mammals, Rattenborg explained, birds
experience different types of sleep, including slow-wave sleep (SWS). Rattenborg argued that
SWS during flight is plausible because SWS can happen in one hemisphere of the brain at a time,
leaving half of the brain essentially awake while the other half sleeps. The eye associated with the
“awake” hemisphere can still function, allowing a bird to see where it is going. Rattenborg decided
that electroencephalogram (EEG) recordings of birds’ brain waves would ultimately be necessary
to determine whether a bird can actually sleep in flight.

4 Eventually, Rattenborg and his team were able to create an experiment to prove this theory by
studying frigatebirds from the Galapagos Islands. These enormous birds are good subjects for
avian-sleep research because they fly far out to sea to hunt fish. However, unlike many seabirds,
they cannot land on the water to rest because the physical build of their body—long wings, poorly
webbed feet, and minimal feather waterproofing—makes them unable to take off again from the
surface of the water. Rattenborg concluded that they must remain in flight for up to two months at
a time.

5 In an article from 2016, Rattenborg outlined the team’s research methods and conclusions. The
team humanely implanted EEGs on the skulls of several frigatebirds. After analyzing the EEG
readings of the birds while in flight, the team determined that the frigatebirds slow-wave slept for
about ten seconds at a time at points when the birds were gliding upward via warm air currents,
typically the safest part of the flight. While in flight the birds slept for only 45 minutes a day,
which is just enough rest for the birds to function during these long flights. They later recovered
from the stress of going with very little sleep when they rested for approximately twelve hours
each day back on land.

6 Using EEG recordings, Niels Rattenborg solved the puzzle of when birds sleep while traveling long
distances. His evidence proved that his theory was correct, and the birds proved themselves to be
the ultimate multitaskers as they manage sleep and flight at the same time.
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1. Read this sentence from paragraph 1.

That kind of endurance seems impossible to us, since we as people need time to
rest and sleep.

The words “endurance” and “impossible” in the sentence convey
A. amazement about the physical capability of birds to remain in flight for extended periods of
time over long distances.

B. uncertainty about the conditions that allow birds to stay in flight for extended periods of time
without rest.

C. excitement about the opportunity to share research into how birds fly for extended periods
of time.

D. skepticism about discovering how birds can fly for extended periods of time with little or no
rest.

2. Which sentence from the passage best supports the idea that birds seem to be capable of
making prolonged flights without sleeping?

E. "“The data revealed that the birds remained completely airborne during their time in Africa, a
period of over 200 days.” (paragraph 2)

F. "“In a 2006 article Rattenborg explained that it was theoretically possible that birds could
undergo a certain type of sleep while flying.” (paragraph 3)

G. “Rattenborg decided that electroencephalogram (EEG) recordings of birds’ brain waves would
ultimately be necessary to determine whether a bird can actually sleep in flight.”
(paragraph 3)

H. "“While in flight the birds slept for only 45 minutes a day, which is just enough rest for the
birds to function during these long flights.” (paragraph 5)
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3. Which statement best summarizes the conclusions of the studies presented in the passage?

A. Scientists used monitoring devices to determine that the seconds when migratory birds glide
upward in warm air currents are safest for slow-wave sleep.

B. Using monitoring devices, scientists confirmed that migratory birds sleep for an extremely
short amount of time while in flight and recuperate by sleeping for an extended period of
time after they land.

C. Scientists used monitoring devices to determine that migratory birds require significantly less
sleep than many other animals and to show that the birds use only one hemisphere of their
brain while flying.

D. Using monitoring devices, scientists confirmed that some types of migratory birds rely on
slow-wave sleep cycles in order to stay in flight for extended periods of time.

4. The overall organizational structure of the passage allows the author to

E. contrast the significance of research findings related to small migratory birds with those
related to large migratory birds.

s

compare the in-flight sleep patterns of the various types of birds examined in several studies.

o

emphasize the role of technology in studying sleep patterns of birds in flight.

H. illustrate how researchers acquired a better understanding of the sleep patterns of birds in
flight.

Sample 1 Explanation

(A) Option A is the correct response because it explains that the words “endurance” and “impossible” convey
amazement at the birds’ ability to remain in flight for so long without resting—as opposed to human beings, who
“need time to rest and sleep” (paragraph 1). Specifically, the word “impossible” implies a sense of wonder or
disbelief at the birds’ endurance, which allows them to continue flying for hundreds of miles without stopping.
The words “endurance” and “impossible” support the idea expressed later in the passage that these birds are the
“ultimate multitaskers” (paragraph 6).

Sample 2 Explanation

(E) Option E best supports the idea that birds seem to be capable of making prolonged flights without sleeping, because
it expresses the idea that the birds “remained completely airborne” during “a period of over 200 days” (paragraph 2).
This information is significantly more precise than the information in the other answer options. Therefore, option E
provides more compelling evidence to support the idea in the question than the other answer options provide.

Sample 3 Explanation

(D) Option D best summarizes the conclusions of the studies presented in the passage. While all the options include
some important details about the study of migratory birds, option D accurately states the key conclusion of these
studies, which is that these birds “rely on slow-wave sleep cycles in order to stay in flight for extended periods of time”
(paragraph 5). Option D's emphasis on the key conclusion rather than on key details makes it the correct response.

Sample 4 Explanation

(H) Option H best explains the effect of the overall structure of the passage. The passage presents an unresolved
question in paragraph 2, while paragraph 3 explains one researcher’s attempt at seeking an answer to the
question. Paragraph 4 describes the bird the researchers chose due to its physical makeup and feeding habits.
Paragraphs 5 and 6 illustrate the details and outcome of the study, revealing the researchers’ conclusion.
Therefore, the overall structure of the passage illustrates how researchers improved their understanding of the
sleep patterns of birds in flight.
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+ x, x+1 = -5

\

The(sum)of(two consecutive integers)is -15) If 1 is added to the smaller integer and 2 is sub-
tracted from the larger integer, what is the product of the two resulting integers?

STSTSTST ST 2RBRS 22 Fare
o < e

2K J-5

J \
tarts a game with(twice as many marbles as Keiko)Jenny gives Keiko 5 marbles) but she
still has 10 more than Keiko. How many marbles did Jenny have to start with?

A. 25
B. 30
2 (AT XIS AASE FFr
C. 35 S 2|
D. 40
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(7R (71 SHGTEAIR Tl (BTl SR Rifon wefe sww@t @ifoa (Tram) sigH|
|

L=3x

W=2x W=2x

L=3x

The perimeter of a rectangle is 510 centimeters. The ratio of the length to the width is 3:2. What
are the dimensions of this rectangle?

F.
G.
H

150 cm by 105 cm

153 cm by 102 cm s (Reeme) @3
AUMHABAITS (TRIT)
158 cm by 97 cm o

165 cm by 90 cm
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g9 T g-417 RIS AT AN FHCS, 916 Q0 F &9 forg|

T 4:

1 dollar = 7 lorgs
1 dollar = 0.5 dalt

Malik has 140 lorgs and 16 dalts. If he exchanges the lorgs and dalts for dollars according to the
rates above, how many dollars will he receive?

A. $28
B. $52 40 7 aTm:mf@m(lorgs)
C. $182 T = T TEAIR oAfS T2
D 3282 7x=140
x=4$20
19 2: TIHATAS (dalts)
6 0.5 TEAIR oAfS T2
_x_ - MO
0.5x=16
x=$32
19 3: T oIffadFe
20+32=452 wTofesta (lorgs) @R TIebeTE
(dalts) st e |
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9
I
5B+ 10 5,5, 0w 5, 5,
9: 3797773 9

> 998 I Wio Tealt, Sered Worferd Wy Al A, SR AR
AT SIS (QFCR o G72/SIRQT A AR A S 92 2T =60 S|

Sample 1 Explanation

If x is the smaller consecutive integer, then x +1 is the larger consecutive integer. Use their sum -15

to find x:

X+x+1)=-15
2x+1=-15
2x=-16
X=-8

The two consecutive integers are -8 and -7.

One is added to the smaller integer: -8 + 1 = -7.

Two is subtracted from the larger integer: =7 - 2 = -9.
Find the product: -7 x -9 = 63.
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Sample 2 Explanation
(D) Set up some equations.
Jenny (/) has twice as many marbles as Keiko (K): / = 2K
Jenny gives Keiko 5 marbles, so now they each have: /-5 and K+ 5 marbles.

Jenny still has 10 more than Keiko:
J-5=(K+5)+10

To find how many marbles Jenny had to start with, solve J = 2K for K and substitute that into the
second equation:

In equation J = 2K, solve for K: K = é
Substitute é in for K.
J-5=(K+5)+10

j—5=(é+5)+10

_J
5—2+15

j_
J _
5= 20

J =40 marbles

Sample 3 Explanation

(F) Let 2x =the width and 3x = the length.
Draw the rectangle to help visualize.

3x

2x 2x

3x

Since 2w +2/ = P, we get

2(2x) + 2(3x) =510

4x + 6x =510

10x =510

x=51

2x=102cm and 3x =152 cm
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Sample 4 Explanation

(B) Use proportions to make the conversions:

Lorgs to dollars:
140_7
X

7x =140
x=%$20
Dalts to dollars:

16 _05
X 1

0.5x=16
x=$32
Total dollars = 20 + 32 = $52
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s1fS 1 M1 remfBre o6 -3 e qeare e STy RrRIRITE FHPSGHIE (S1IE) ! STl
FAE 3R S TeHoa SR oI sifdacs 7o nfafes Teq e Fare =11

> &fefs aree fare sivfs e (F8IwR) e tefd Taw s« fare weme Seaate iorg T, I e
(AT P FPpA |
> aifefb fare-2 e s, faites Ssitaa Jta S Sedlt ferg|

> aifefb Tt wy 9T b 725 W vl o forge | afit @i Tt mifs #1es Ui o . o weme
F2e

> i @ AR5t @@l o=l feveareet <o ey @ 3@fs et oo e 3efb o7 w=e

EXAMPLE A EXAMPLE B
(Answer: 5) (Answer: 3.2)

Write the answer
in these boxes.

Negative
sign

Decimal

< point

Fill in the circles
that correspond
to the answer
written in the
boxes.
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Teq ferfor wzea|

EXAMPLE C
(Answer: —1.5)

Negative
sign

Decimal
point

DEEEHEHHEE@E0

> T IR B QB TINE AR, O A (T TSB! 97 FARA GTICAT (T ST TSR
T SRR AN T ©f ffR5w Fzew | Swimgerwst, T SoeE $ex 0.78 =, o= 0, ".", 7, @31 8,
93 53 TETA! TG FH - SHIRAY D-9F TS| o1 e (.78 (T4 TSA0'S HdF AT 92 7S -
Twizas E-937 o

EXAMPLE D EXAMPLE E
(Answer: 0.78) (Answer: .78)

0] .

E[ Jelels

(o) ()i{o)
2
®
5
®
@
=
()
@
=

[8)

g
@ @
@ @
@ @
® @
® ®
® ®
@ G
® ®
® ®

TriRae D 932 E-9 @38 Sed fom
ARATIIAT T eRi¥e AR
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T RO (R 1 2T | AR, M oK Ted 308 =, O Snizdet F 2052 WoFE Sed (RId
AR S| SWIRAN G-9, 0-97 9IS 3 992 8- MR ATB I& Wifed R, —=AoIF GOT AT
Ted RO 201 A1 IR el ROt (&I 1 =

EXAMPLE F EXAMPLE G
(Answer: 308) (Answer: 38) /

O

=

rololololelclel

()

> TS IEIEANR BT (&I J@ SAIb FAE Al, WA H-9 (TSI M 2R | izl H-3 $ed 3,080
RO (R 1 2 FIF 0-9F O (<1 FA 1 BES 09 I8 A6 1 AR, IMS AioFF wioens fea
308 &ex ol

EXAMPLE H
(Answer: 3080)

'S
=]
3)
=)
3)
=
(@)
= =)
3)
=]
N
%
-

\

| oo

o
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	Structure Bookmarks
	1.4 ইংঠলশ ল্যাগেডয়জ আে্যস দসকশডনর জন্য কীভাডব প্রস্তুত হডত হডব 
	1.4 ইংঠলশ ল্যাগেডয়জ আে্যস দসকশডনর জন্য কীভাডব প্রস্তুত হডত হডব 
	ু 
	ইংনিশ ি্যাঙ্গময়জ আর্ক ি্ যিরশমি 57টি োনটিপি চময়ি (বহু নবরল্প যথমর িনঠর উত্তর বাোই) প্রশ্ থামর, য�গুমিা প�ামিাচিা/িম্াদিার (নরভাইি/এনির) দক্ষিা ও নরনিং রন্রিমহিশি েূ ্ক যস্টমরর নশক্ষণ োিদমডের িামথ িেনবিি। পরবিথী 
	ু ্ক 
	ি্যায়ি রমর। এই প্রশ্গুনি নিউ ইয়র পৃষ্াগুনিমি প�্ক ্ক নরেু পরােশ্ক আমে। 
	ামিাচিা/িম্াদিার (নরভাইি/এনির) এবং নরনিং রন্রিমহিশি প্রমশ্র উত্তর যদয়া িম্মর 
	পরাডলািনা/সম্পােনার (ঠরভাইস/এঠেে) উপঠরঠিত্র পাে্য ্য A 
	পরাডলািনা/সম্পােনার (ঠরভাইস/এঠেে) উপঠরঠিত্র পাে্য ্য A 
	এই যিরশমি য� ভাষা দক্ষিা েূ ্ক ্ক ু
	ি্যায়ি ররা হয় িা নিভর রমর নিউ ইয়র যস্টমরর নশক্ষণ োিদমডের িপ্তে (7) যগ্রমির ি্যাঙ্গময়জ যিরশমির উপর, এবং এর পাশাপানশ পূমব্ক ু
	র যগ্রিগুনিমি অরজতিি দক্ষিা বা োমির উপর, উদাহরণস্রূপ ি্যাঙ্গময়জ যপ্রামগ্রনিভ ন্িি্। প্রনিটি প্রশ্ আপিামর এরটি বার্য, বার্যিেূ ্ক
	মহর এরটি িানিরা, অথবা িম্বর�ুক্ত বার্যিেনষ্র প্যারাগ্রাে পড়ার প্রনি নিমদশিা প্রদাি রমর। িারপর আপিামর ভাষার নিয়ে-রািু ু ু্কক্ত:
	ি অথবা �নিনচনি (পাংচময়শি) িম্ররতিি িেি্যা িোধাি ররমি বিা হয়। উদাহরমণ অন্তভ 
	■ 
	■ 
	■ 
	যরামিা ভুমির জি্য িমবাচ্চ িনঠর উত্তরটি যবমে যিয়া্ক 

	■ 
	■ 
	ভুি আমে এেি এরটি বার্য শিাক্ত ররা 

	■ 
	■ 
	যিখাটির উন্ননিরমল্প বার্যিেূহ িং�ুক্ত ররা অথবা বামর্যর যরামিা অংশ িংমশাধি ররা 


	পরাডলািনা/সম্পােনার (ঠরভাইস/এঠেে) জন্য পরামশ্যসমূহ পাে A 
	➤ অনধরাংশ নবষময়র যক্ষমত্র, যরক্সর পড়ার আমগ প্রথমে প্রশ্টি পড়ুি য�ি আপনি বুঝমি 
	প্রথডম, প্রশ্টি পড়ুন। 
	পামরি যরক্সর পড়ার িেয় আপিামর যরাি্ ধরমণর নবষময়র প্রনি যখয়াি রাখমি হমব। 
	➤ ভাষার ব্যবহামর অথবা �নিনচমনির ভুমির রারমণ যরামিা শব্দ, বার্যাংশ, অথবা বার্য পড়া রষ্টিাধ্য হমছে নর? 
	এরপর, সমডয়র প্রঠত লক্্য দরডখ, 
	➤ যরক্সমরর এেি যরামিা অংশ আমে নর �া আরও স্পষ্টভামব, িংমক্ষমপ, অথবা �থা�থভামব 
	বডসে দেয়া দেসেেটি পড়ুন এবং 
	যিখা য�ি? 
	দকান্ ঠবষয়টির প্রঠত আপঠন লক্্য 
	➤ �খি যরামিা িেি্যা িক্ষ্য ররমবি, দ্রুি যরক্সমর যিরা নচননিি ররুি। এটি আপিামর 
	রাখডেন তা দনাে করুন। 
	উত্তরগুমিা যথমর এরটি যবমে নিমি িহায়িা ররমি পামর। 
	➤ 
	➤ 
	➤ 
	েমি রাখমবি য� প্রমশ্র নিরদতিষ্ট নবষময়র প্রনি যোরাি যরমখ আপিার যিারগুনি হওয়া উনচি। 

	➤ 
	➤ 
	পরীক্ষার আমগর নদি, পার্ক A-যি আপনি রিরা িেয় ব্যয় ররমবি িা পনররল্পিা রমর নিি; এরা পরীক্ষার নদি প্রনিটি প্রমশ্র উত্তর যদয়ায় আপিামর দক্ষ রমর িুিমি িহায়িা ররমব। 


	Figure


	পরযাল�যাচনযা/সম্যাদনযার (ররভযাইস/এরিট) নমুনযা প্রশ্যাব�ী পযাট্ ্ A 
	পরযাল�যাচনযা/সম্যাদনযার (ররভযাইস/এরিট) নমুনযা প্রশ্যাব�ী পযাট্ ্ A 
	Sample 1: Select the best correction/s for an error (or errors). 
	Read this paragraph. 
	(1) With  luscious trees and grassy fields stretching like a green ribbon across Manhattan, New York City’s Central Park  a natural oasis amid the bustling city. (2) While more than 25 million people  the park each year,  also a temporary home to an abundance of migratory birds. (3) During the spring and fall migrations, the park  a bird watcher’s paradise, prompting scores of avid birders with binoculars in hand to flock to . (4) More than 270 species of birds, including swallows, thrushes, and at least 25
	its
	is
	visited
	they are
	becomes
	it

	How should the paragraph be revised? A. Sentence 1: Change its to their, AND change is to was. B. Sentence 2: Change visited to visit, AND change they are to it is. C. Sentence 3: Change becomes to became, AND change it to them. D. Sentence 4: Change have been to had been, AND change their to its. এই প্যারাগ্রামের যিরা প�্কামিাচিা (নরনভশি) নিধ্কারণ ররমি, আপনি �খি প্যারাগ্রামের প্রথে (1) বার্যটি পড়মেি িখি প্রথে অপশিটিমি নিনপবদ্ িম্াব্য পনরবি্ক িগুমিা পড়ুি। �নদ যরামিা প�্কামিাচিা (নরনভশি) ররার প্রময়াজি িা থাম
	Sample 2: Identify a sentence with an error.
	Read this paragraph. 
	(1) Madison Square Garden is the oldest sports arena in the New York City area, having opened in 1968. (2) The construction of the Garden caused controversy when portions of the iconic Pennsylvania Railroad Station were demolished, leading to the creation of a commission dedicated to preserving New York City’s historic landmarks. (3) Although the Garden is home to major sports teams and is a frequent host of major concerts, city officials are concerned that it stands in the way of expanding and modernizing 
	Which sentence should be revised to correct an error in sentence structure? E. sentence 1 F. sentence 2 G. sentence 3 H. sentence 4 .বার্যটি শিাক্ত ররমি, িেময়র প্রনি িক্ষ্য যরমখ প্রথমে বার্যটি �ত্নিহরামর পড়ুি; শুধু যচাখ বুিামবি িা। ভুিটি প্যারাগ্রামের য�মরামিা স্ামি থারমি পামর। িক্ষ্য ররুি য� ভুিটি রময়মে িুনিরদতিষ্টভামব বামর্যর গঠমি, �ার অথ্ক হমছে ধারণাগুমিার েমধ্য িম্র্ক িুমি ধরমি (প্রনিনিনধবে ররমি), এরটি বামর্য শব্দ ও বার্যাংশ রীভামব বমি িার িামথ িম্ররতিি। 
	Sample 3: Improve the writing by combining sentences or revising part of a sentence. 
	Read these sentences. 
	(1)
	(1)
	(1)
	 Whales are the giants of the ocean, and they spend their lives in underwater song. 

	(2)
	(2)
	 They use their voices to attract a mate, call out to one another, and help navigate new environments. 


	What is the best way to combine the sentences to clarify the relationship between the ideas? A. Whales are the giants of the ocean, spending their lives in underwater song, using their voices to attract a mate, calling out to one another, and helping navigate new environments. B. Whales, the giants of the ocean, spend their lives in underwater song, use their voices to attract a mate, call out to one another, and help navigate new environments. C. Whales are the giants of the ocean, spend their lives in und
	Sample 1 Explanation 
	(B) Sentence 2 of the paragraph should be revised to correct the errors in verb tense and pronoun agreement. The paragraph is in the present tense, so the past tense “visited” needs to be changed to “visit.” Additionally, the pronoun “they” needs to be changed to the pronoun “it.” The pronoun refers to “the park,” which is a singular noun; it does not refer to “people,” which is plural. Option B is correct because the revisions in the option correct these errors. 
	Sample 2 Explanation 
	(E) Sentence 1 of the paragraph should be revised to correct an error in sentence structure. Specifically, the sentence should be revised to correct a misplaced modifier. As the sentence is written, the phrase “having opened in 1968” incorrectly modifies “the New York City area” instead of modifying “Madison Square Garden.” The correct placement of the phrase would change the beginning of sentence 1 to “Madison Square Garden, having opened in 1968, . . .” Option E correctly identifies sentence 1 as having a
	Sample 3 Explanation 
	(D) Option D shows the best way to combine these sentences clearly and precisely because it shows the relationship between the key ideas of whales spending their lives in underwater song and the practical uses of their song. 
	পরাডলািনা/সম্পােনার (ঠরভাইস/এঠেে) উপঠরঠিত্র পাে্য ্য B 
	পরাডলািনা/সম্পােনার (ঠরভাইস/এঠেে) উপঠরঠিত্র পাে্য ্য B 
	পার্ক B-এর প্রশ্গুনি যরক্সর পড়ায় আপিার য�াগ্যিা পনরোপ রমর এবং িারপর নিদ্ান্ত গ্রহমণ িহায়িা যদয় �া রাইটিংময় আপিার িােনগ্রর োি উন্নয়ি রমর। য� নবষয়গুনি এইিব যরক্সমর উপস্াপি ররা হয় যিগুনির েমধ্য থামর ঐনিহানির এবং বি্ক োি ররিািেূহ; জিমগানষ্, নবনভন্ন স্াি এবং যররমিািনজর নবষয়; বাময়ািনজর্যাি িাময়ন্স, নেনজর্যাি িাময়ন্স, এবং যিাশ্যাি িাময়মন্সর নবনভন্ন নবষয়। আপনি য�ি দ্রুি খুঁমজ নিমি পামরি এবং প্যামিমজর নবমশষ অংশগুনি যদমখ নিমি পামরি যিজি্য প্রনিটি বার্য িম্বর�ুক্ত। 
	যরক্সমর ভুি থারমি পামর, য�েি 
	যরক্সমর ভুি থারমি পামর, য�েি 

	■ 
	■ 
	■ 
	■ 
	ভাষার অপব্যবহার 


	■ 
	■ 
	বাদ পড়া অথবা অমহিুর িহায়র নবস্তানরি খুঁটিিাটি 

	■ 
	■ 
	বাদ-পড়া অথবা অিুপ�ুক্ত পরবিথী পমবর জি্য (ট্্যািনজশিাি) শব্দ, বার্যাংশ, অথবা বার্য্ক 

	■ 
	■ 
	যরামিা বাদ-পড়া অথবা অস্পষ্ট ভূনেরা অথবা উপিংহার নববৃনি 

	■ 
	■ 
	নবভ্ানন্তরর অথবা অম�ৌনক্তর গঠি 

	■ 
	■ 
	ভাষা এবং যিখার োমির িামথ িম্ররতিি অি্যাি্য ভুি-ভ্ানন্ত 


	 পরাডলািনা/সম্পােনার (ঠরভাইস/এঠেে) জন্য পরামশ্য পাে B 
	➤ যরক্সরটি রীভামব আরও উন্নিভামব গঠি ররা �ায় যিনবষময় প্রমশ্র উত্তর যদয়ার জি্য যরক্সর যথমর যিখমরর উমদেশ্য, প্রধাি ধারণা, এবং িহায়র নবস্তানরি নবষয়গুমিা আপিার যবাঝা প্রময়াজি, যিজি্য েমিাম�াগ নদময় পড়া আবশ্যর। 
	➤ যরক্সরটি রীভামব আরও উন্নিভামব গঠি ররা �ায় যিনবষময় প্রমশ্র উত্তর যদয়ার জি্য যরক্সর যথমর যিখমরর উমদেশ্য, প্রধাি ধারণা, এবং িহায়র নবস্তানরি নবষয়গুমিা আপিার যবাঝা প্রময়াজি, যিজি্য েমিাম�াগ নদময় পড়া আবশ্যর। 

	সমডয়র প্রঠত লক্্য দরডখ প্রথডম দেসেেটি সতক্য তার ➤ আপনি নবভ্ানন্তরর, অম�ৌনক্তর, অপ্রময়াজিীয়, অিংগনঠি, অথবা িাধারণি পড়মি রষ্ট হয় সাডথ পড়ুন, শুধু দিাখ এেি বার্য এবং প্যারাগ্রাে িক্ষ্য ররমি পামরি। বুলাডবন না। 
	➤ 
	➤ 
	➤ 
	➤ 
	িক্ষ্য ররুি য�, পার্ক B-এ য� ধারাক্মে আপিার যরক্সর এবং প্রশ্(গুমিা) পড়া উনচি যিরা পার্ক A যথমর নভন্ন। পার্ক A-যি আপিার প্রথমে প্রশ্ পড়া উনচি। পার্ক B-যি, আপিার প্রথমে যরক্সর পড়া উনচি। 

	➤ 
	➤ 
	যরক্সমর নেমর �াি এবং প্রািনঙ্গর বার্য অথবা প্যারাগ্রােগুনি আবার পড়ুি �া প্রমশ্ উমলেখ ররা হময়মে। 



	এরপর, সমডয়র প্রঠত লক্্য ➤ প্রমশ্ য� বার্যটির নবষময় বিা হময়মে যিটির আমগ ও পমরর বার্যগুনিমিও আপিামর যচাখ দরডখ, প্রঠতটি প্রশ্ পড়ুন। বুনিময় য�মি হমি পামর। 
	➤ প্রময়াজি অিু
	➤ প্রময়াজি অিু
	�ায়ী বার্যটি আবার পমড় (এবং �িরা িেয় পাওয়া �ায়), প্রনিটি উত্তমরর িম্াব্যিা নবমবচিা ররুি। অপশিটি িমব্ক
	াচ্চ িম্াব্য উত্তর যদয় নরিা যি নিদ্ান্ত নিি। 
	Figure
	➤ পরীক্ষার আমগর নদি, পার্ক B-যি আপনি রিরা িেয় ব্যয় ররমবি িা পনররল্পিা ররুি; এরা পরীক্ষার নদি প্রনিটি প্রমশ্র উত্তর নদমি আপিামর দক্ষ রমর িুিমি িহায়র হমব। 


	পরাডলািনা/সম্পােনার (ঠরভাইস/এঠেে) নমুনা প্রশ্াবলী পাে্য ্য B 
	পরাডলািনা/সম্পােনার (ঠরভাইস/এঠেে) নমুনা প্রশ্াবলী পাে্য ্য B 


	Game Night 
	Game Night 
	Game Night 

	(1)
	(1)
	(1)
	 Some people think that board games are outdated and boring, unable to provide much entertainment to today’s electronic-savvy teens.  (2) But opening a cardboard box full of colorful and sometimes elaborate game pieces can offer a refreshing experience, one that cannot be matched by a video game controller and headset.  (3) Playing board games is really quite fun. 

	(4)
	(4)
	 Board games have exploded in popularity in the past several years as people have discovered how entertaining and interesting a complex or strategic game can be.  (5) In the board game Ticket to Ride, players compete against one another.  (6) The goal is to create a long railway that connects destinations on a map.  (7) This requires collecting resources and building rail lines in strategic places.  (8) The game encourages players to think in new ways, and the brain gets exercise that it needs in order to g

	(9)
	(9)
	 Playing board games with others can also help bring people together.  (10) When you take part in a board game, you get to know the other players.  (11) People separated by generations can find common ground across the table from one another when they are all enjoying the same board game.  (12) In addition, playing board games can often encourage discussion among players about a variety of topics.  (13) Some games are even developed as learning games and aim to teach players about a topic as they play.  (14

	(15)
	(15)
	 In addition to helping people develop relationships, playing board games gives people an opportunity to hone skills that apply to real life.  (16) Competitive board games challenge people to compete and to use strategies to outwit one another.  (17) Cooperative board games require players to collaborate and to use their individual strengths to achieve a common goal. (18) The act of playing almost any board game can help a person learn to be a humble winner and a gracious loser and help improve a person’s f

	(19)
	(19)
	 Playing board games is an excellent way to exercise one’s brain, engage with other people, and practice essential strategies for handling real-life situations.  (20) There are hundreds of competitive and cooperative board games that can provide the ideal balance between entertainment and challenge. 


	1. Which revision of sentence 10 best maintains the formal style established in the passage? আিুষ্ানির স্টাইি বজায় রাখমি, যিখমররা প্রায়শই খুব িুনিরদতিষ্ট, স্পষ্ট, এবং োমঝ োমঝ উচ্চ োমির অ্যারামিনের ভাষার উপর নিভ্কর রমর। এই ধরমণর প্রমশ্র জমি্য, আপিার পুমরারা যিখা পড়া এবং স্টাইি নবমবচিা ররা উনচি, এবং এরপর এই ধারাটি বজায় রাখমি যরাি্ অপশিটি যিরা যিরা নবমবচিা ররুি। 
	A. When you play a board game with people, you become friendly with them. 
	B. When people participate in a board game, they develop relationships with each other. 
	C. When people get together for a board game, they learn about each other. 
	D. When you become involved in a board game with people, you make friends with the players. 
	Which sentence should be added after sentence 18 to help develop the ideas in the fourth paragraph (sentences 15–18)? 
	E. Playing board games can teach a person a lot about how to manage the daily obstacles that are a natural part of life. 
	F. The skills used to play games can be useful, as almost all occupations require people to make decisions that can have positive or negative results. 
	G. People who learn these things will develop strong interpersonal skills, which are an advantage when developing relationships. 
	H. Concentrating on a goal, responding well to positive and negative outcomes, and making logical decisions are valuable skills in many situations. 
	3. Which concluding sentence would best follow sentence 20 and support the main argument presented in the passage? 
	A. People should seek out board games that require players to develop complex strategies to defeat opponents. 
	B. People should choose board games that appeal to them and encourage friends and family to take a seat at the gaming table. 
	C. People should play board games that involve significant player interaction as they try to achieve the same or different goals. 
	D. People should find board games that allow friends and family to reap the benefits of regularly playing games. 
	Sample 1 Explanation 
	(B) Option B is the correct response because this revision uses precise, formal language (“participate” and “develop relationships”) that maintains the style established in the passage. In addition, this option avoids using the informal second person (“you”) and instead uses “people” to refer to board-game players, which further contributes to the formal style. 
	Sample 2 Explanation 
	(H) Option H is the correct response because this sentence further develops the ideas that are presented in sentence 18 (that playing board games can help a person learn to win and lose with grace and can “help improve a person’s focus, self-control, and critical thinking”). This sentence develops these ideas by explaining that these qualities are valuable in situations beyond playing board games. 
	Sample 3 Explanation 
	(B) Option B is the correct response because it logically follows the description in sentence 20 that there are “hundreds of competitive and cooperative board games” with the suggestion that a person should choose one that they find appealing or interesting. The passage explains the benefits of playing board games, and the sentence in option B supports the main argument of the passage by emphasizing that playing board games is a fun way to bring people together. 
	ঠরঠেং কঠম্প্রডহনশডনর উপঠরঠিত্র 
	ঠরঠেং কঠম্প্রডহনশডনর উপঠরঠিত্র 
	ঠরঠেং কঠম্প্রডহনশডনর উপঠরঠিত্র 

	এই যিরশিটি িানহি্য এবং িথ্যেূ ূ ু
	ির উভয় যরেণীর েয়টি যরক্সর পড়া এবং যিগুনি যবাঝার িক্ষেিা েি্যায়ি রমর, এমি নিমচ িানিরাভক্ত য�মরামিা ধরমির যরক্সর থারমি পামর। 
	তথ্যমূলক ধারায় অন্তভক্ত হডত পাডর সাঠহত্যমূলক ধারায় অন্তভক্ত হডত পাডর 
	বণ্কিােূ ূ
	বণ্কিােূ ূ
	ির/ব্যাখ্যােির যরক্সর 
	রনবিা 
	�ু ্কর যরক্সর
	�ু ্কর যরক্সর
	নক্তনিভ 

	অনভ�ামির গল্পিেূহ 
	নক্য়ােূ
	নক্য়ােূ
	ির বা োংশিাি যরক্সর য� েমর হমি পামর: 


	নহমস্টানররাি নেরশি (ইনিহাি-নভনত্তর উপি্যাি) 
	নহমস্টানররাি নেরশি (ইনিহাি-নভনত্তর উপি্যাি) 
	• 
	• 
	• 
	ব্যনক্তগি রচিািেূহ 


	রহি্য 
	• 
	• 
	নস্পচ বা বক্তৃ িািেূহ 

	নেথ (যপৌরানণর রানহিী) 
	• 
	• 
	েিােিেূ

	ির যিখািেূহ 
	িাময়ন্স নেরশি (নবজ্াি-নভনত্তর উপি্যাি) 

	• 
	• 
	• 
	নশল্প বা িানহি্য িম্ররতিি রচিািেূহ 

	• 
	• 
	• 
	জীবিীগ্রন্থ 



	বাস্তবধেথী নেরশি বা উপি্যাি 
	বাস্তবধেথী নেরশি বা উপি্যাি 
	• 
	• 
	স্ৃনিরথা 

	রূপর গল্প 

	• 
	• 
	িাংবানদরিা রে্যরচিা (প্যামরানি) 

	• ঐনিহানির, নবজ্াি-নবষয়র, প্র�ুনক্তগি, অথবা ব্যাপর পাঠরমগানষ্র জি্য অথ্কিীনি-নবষয়র যিখা 
	• ঐনিহানির, নবজ্াি-নবষয়র, প্র�ুনক্তগি, অথবা ব্যাপর পাঠরমগানষ্র জি্য অথ্কিীনি-নবষয়র যিখা 
	রাজনিনির বা িাোনজর ব্যঙ্গরচিা 

	ঠরঠেং কঠম্প্রডহনশন সম্পরকতিত পরামশ্য 
	সমডয়র প্রঠত লক্্য দরডখ প্রথডম দেসেেটি রত্নসহকাডর পড়ুন, শুধু দিাখ বুলাডবন না। 
	সমডয়র প্রঠত লক্্য দরডখ প্রথডম দেসেেটি রত্নসহকাডর পড়ুন, শুধু দিাখ বুলাডবন না। 
	➤ 
	➤ 
	➤ 
	প্রধাি নবষয় এবং গুরুবেপূণ্ক খুঁটিিাটি -উভময়র িম্মর্ক আপিার এরটি িনঠর এবং যরক্সরনিভ্কর ধারণা হময়মে যিনবষয়টি নিনচিি ররমি যরক্সরটি �ত্নিহরামর পড়ুি। 
	-


	➤ 
	➤ 
	�খি পড়মেি, আপনি রিরা বুমঝমেি যিটি িক্ষ্য ররুি; �নদ যরািও বার্য অথবা প্যারাগ্রাে নবভ্ানন্তরর েমি হয়, িাহমি দ্রুি আবার পড়ার যচষ্টা ররুি। 

	➤ 
	➤ 
	িম্ুণ্ক যরক্সরটি পড়ার িেয়, গুরুবেপূণ্ক খুঁটিিাটি নচমি নিমি, নবষয়গুনির িার-িংমক্ষপ 


	দনাে ঠনন। 
	ইি্যানদ েমি রাখমি িংনক্ষপ্ত যিার রুমর রাখুি। 
	➤ প্রশ্টিমি রী নজমজ্ি ররা হমছে যিটি �ামি স্পষ্টভামব বুঝমি পামরি যিজমি্য েমিাম�াগ নদময় প্রশ্টি পড়ুি। উদাহরণস্রূপ, আপিার নর শুধু এরটি প্যারাগ্রাে িানর এরানধর 
	প্রশ্গুঠল মডনাডরাগ ঠেডয় পড়ুন। 
	প্যারাগ্রামের খুঁটিিাটির প্রনি েমিানিমবশ ররা উনচি? 
	➤ 
	➤ 
	➤ 
	�নদ িেয় থামর, যরক্সমরর প্রািনঙ্গর অংশটি অথবা অংশগুনি পুিরায় পড়ুি। 

	➤ 
	➤ 
	প্রনিটি অপশি পড়ার আমগ, উত্তর রী হমব যভমব নিি। িারপর প্রনিটি উত্তমরর অপশি পড়ুি, নিচিিভামব য�গুমিা ভুি বমি েমি হমছে যিগুমিা বাদ নদি, এবং আপিার ভাবিার 


	উত্তডরর অপশনগুডলা পিার আডগ 
	িামথ িমবাচ্চ োিািিইটি যবমে নিি। ্ক 
	উত্তরটি ঠনধ্যারণ করার দিষ্টা 
	➤ আপিার উত্তমরর জি্য শুধু যরক্সমরর নবষময়র উপর নিভ্কর ররুি (এবং য�খামি প্রািনঙ্গর 
	করুন। 
	যিখামি িম্ৃ ্ক ধারণা বা
	ক্ত েনব অথবা গ্রানেমক্সর উপর)। নবষময়র উপর আপিার পূব জ্ামির উপর নিভ্কর ররমবি িা। 
	Figure
	➤ পরীক্ষার আমগর নদি, নরনিং রন্রিমহিশি যিরশমির প্রনিটি যরক্সর ও িার িামথ িম্ৃক্ত প্রমশ্র জি্য আপনি রিরা িেয় ব্যয় ররমবি িা পনররল্পিা ররুি; এরা পরীক্ষার নদি প্রনিটি প্রমশ্র উত্তমরর িনঠর জবাব দামি আপিার দক্ষিা বিরীমি িহায়র হমব। 



	রররিং কর্রিলেনশলনর জন্য নমুনযা প্রশ্যাব�ী 
	রররিং কর্রিলেনশলনর জন্য নমুনযা প্রশ্যাব�ী 
	1 
	2 
	3 
	4 
	5 

	Snoozing While Soaring 
	Snoozing While Soaring 
	Certain types of birds soar for hundreds of miles, over land, over sea—and never stop to rest. That kind of endurance seems impossible to us, since we as people need time to rest and sleep. Researchers set out to learn how birds could fly for such long distances without restorative rest. They found that for some birds, settling in for a good night’s rest is not always a necessity. 
	In 2013 Felix Liechti and his research colleagues at the Swiss Ornithological Institute published results of a study about the flight habits of Alpine swifts, small birds that migrate annually between Europe and Africa. Liechti and his team fitted the birds with small electronic tags that recorded the birds’ acceleration and their pitch, or angle relative to the ground. The data revealed that the birds remained completely airborne during their time in Africa, a period of over 200 days. Since all animals req
	Researcher Niels Rattenborg from the Max Planck Institute for Ornithology also delved into this question. In a 2006 article Rattenborg explained that it was theoretically possible that birds could undergo a certain type of sleep while flying. Like mammals, Rattenborg explained, birds experience different types of sleep, including slow-wave sleep (SWS). Rattenborg argued that SWS during flight is plausible because SWS can happen in one hemisphere of the brain at a time, leaving half of the brain essentially 
	Eventually, Rattenborg and his team were able to create an experiment to prove this theory by studying frigatebirds from the Galápagos Islands. These enormous birds are good subjects for avian-sleep research because they fly far out to sea to hunt fish. However, unlike many seabirds, they cannot land on the water to rest because the physical build of their body—long wings, poorly webbed feet, and minimal feather waterproofing—makes them unable to take off again from the surface of the water. Rattenborg conc
	In an article from 2016, Rattenborg outlined the team’s research methods and conclusions. The team humanely implanted EEGs on the skulls of several frigatebirds. After analyzing the EEG readings of the birds while in flight, the team determined that the frigatebirds slow-wave slept for about ten seconds at a time at points when the birds were gliding upward via warm air currents, typically the safest part of the flight. While in flight the birds slept for only 45 minutes a day, which is just enough rest for
	Using EEG recordings, Niels Rattenborg solved the puzzle of when birds sleep while traveling long distances. His evidence proved that his theory was correct, and the birds proved themselves to be the ultimate multitaskers as they manage sleep and flight at the same time. 
	 1. Read this sentence from paragraph 1. 
	That kind of endurance seems impossible to us, since we as people need time to rest and sleep. 
	The words “endurance” and “impossible” in the sentence convey 
	A. amazement about the physical capability of birds to remain in flight for extended periods of time over long distances. 
	B. uncertainty about the conditions that allow birds to stay in flight for extended periods of time without rest. 
	C. excitement about the opportunity to share research into how birds fly for extended periods of time. 
	D. skepticism about discovering how birds can fly for extended periods of time with little or no rest. 
	2. Which sentence from the passage best supports the idea that birds seem to be capable of making prolonged flights without sleeping? 
	E. “The data revealed that the birds remained completely airborne during their time in Africa, a period of over 200 days.” (paragraph 2) 
	F. “In a 2006 article Rattenborg explained that it was theoretically possible that birds could undergo a certain type of sleep while flying.” (paragraph 3) 
	G. “Rattenborg decided that electroencephalogram (EEG) recordings of birds’ brain waves would ultimately be necessary to determine whether a bird can actually sleep in flight.” (paragraph 3) 
	H. “While in flight the birds slept for only 45 minutes a day, which is just enough rest for the birds to function during these long flights.” (paragraph 5) 
	3. Which statement best summarizes the conclusions of the studies presented in the passage? 
	A. Scientists used monitoring devices to determine that the seconds when migratory birds glide upward in warm air currents are safest for slow-wave sleep. 
	B. Using monitoring devices, scientists confirmed that migratory birds sleep for an extremely short amount of time while in flight and recuperate by sleeping for an extended period of time after they land. 
	C. Scientists used monitoring devices to determine that migratory birds require significantly less sleep than many other animals and to show that the birds use only one hemisphere of their brain while flying. 
	D. Using monitoring devices, scientists confirmed that some types of migratory birds rely on slow-wave sleep cycles in order to stay in flight for extended periods of time. 
	4. The overall organizational structure of the passage allows the author to 
	E. contrast the significance of research findings related to small migratory birds with those related to large migratory birds. 
	F. compare the in-flight sleep patterns of the various types of birds examined in several studies. 
	G. emphasize the role of technology in studying sleep patterns of birds in flight. 
	H. illustrate how researchers acquired a better understanding of the sleep patterns of birds in flight. 
	Sample 1 Explanation 
	(A) Option A is the correct response because it explains that the words “endurance” and “impossible” convey amazement at the birds’ ability to remain in flight for so long without resting—as opposed to human beings, who “need time to rest and sleep” (paragraph 1). Specifically, the word “impossible” implies a sense of wonder or disbelief at the birds’ endurance, which allows them to continue flying for hundreds of miles without stopping. The words “endurance” and “impossible” support the idea expressed late
	Sample 2 Explanation 
	(E) Option E best supports the idea that birds seem to be capable of making prolonged flights without sleeping, because it expresses the idea that the birds “remained completely airborne” during “a period of over 200 days” (paragraph 2). This information is significantly more precise than the information in the other answer options. Therefore, option E provides more compelling evidence to support the idea in the question than the other answer options provide. 
	Sample 3 Explanation 
	(D) Option D best summarizes the conclusions of the studies presented in the passage. While all the options include some important details about the study of migratory birds, option D accurately states the key conclusion of these studies, which is that these birds “rely on slow-wave sleep cycles in order to stay in flight for extended periods of time” (paragraph 5). Option D’s emphasis on the key conclusion rather than on key details makes it the correct response. 
	Sample 4 Explanation 
	(H) Option H best explains the effect of the overall structure of the passage. The passage presents an unresolved question in paragraph 2, while paragraph 3 explains one researcher’s attempt at seeking an answer to the question. Paragraph 4 describes the bird the researchers chose due to its physical makeup and feeding habits. Paragraphs 5 and 6 illustrate the details and outcome of the study, revealing the researchers’ conclusion. Therefore, the overall structure of the passage illustrates how researchers 
	1.5 গঠণত (ম্যাথ) দসকশডনর জন্য কীভাডব প্রস্তুত হডত হডব 
	1.5 গঠণত (ম্যাথ) দসকশডনর জন্য কীভাডব প্রস্তুত হডত হডব 
	ে্যাথ যিরশমি রময়মে রথা এবং রেনপউমরশিাি (গণিােূ
	ির) প্রশ্ – �া এরানধর উত্তর যথমর যবমে যিয়া অথবা নগ্রি-ইি েরে্যামর হমি পামর। যিখামি পঁাচটি নগ্রি-ইি প্রশ্ এবং 52-টি োনটিপি-চময়ি (এরানধর উত্তর যথমর যবমে যিয়া) প্রশ্ রময়মে। ে্যাথ বা গনণি প্রমশ্ থামর গনণমি দক্ষিার প্রময়াগ, গনণি-নবষয়র শব্দাবিী, এবং গনণি নবষময় নিউ ইয়র্ক যস্টমরর নশক্ষণ োমির িাধারণ ধারণািেূহ। �নদও, এই পরীক্ষার এরানধর উমদেমশ্যর েমধ্য এরটি হমছে - যিিব নশক্ষাথথীমর শিাক্ত ররা, �ারা যস্পশািাইজি্ হাই ্ু মির নশক্ষা যথমর উপরৃ ি হমব, SHSAT ে্যাথ নবষয়গুনি জটিি, বহু-ধাপ নবনশষ্ট িেি্যাগুমিায় আপিার পনরনচি গান
	অষ্টে (8) যগ্রমির প্রশ্পমত্রর (যরস্ট েে্ক ্ক ্ক ুক্ত। িবে 
	) ে্যাথ প্রশ্গুনি ঐিব পাঠ্য নবষময়র উপর �া 7 যগ্রি প�ন্ত নিউ ইয়র নিটি পাঠ্যক্মে অন্তভ্ক 
	(9) যগ্রমির প্রশ্পমত্রর (যরস্ট েে্ক ্ক ্ক ুক্ত।
	) ে্যাথ প্রশ্গুনি ঐিব পাঠ্য নবষময়র উপর �া 8 যগ্রি প�ন্ত নিউ ইয়র নিটি পাঠ্যক্মে অন্তভ্ক 
	পরবিথী পৃষ্াগুনিমি SHSAT-এর ে্যাথ যিরশমির প্রস্তুনিমি রীভামব িহায়িা পাওয়া য�মি পামর যিনবষময় নবনবধ পরােমশ্কর রূপমরখা যদয়া আমে। এর েমধ্য নিম্ননিনখি নবষয়গুমিা রময়মে: 
	■ 
	■ 
	■ 
	ে্যাথ বা গনণি নবষময় গানণনির দক্ষিা বৃনদ্র জি্য আপিামর য�িব নজনিি আরও যবনশ অিুশীিি ররমি হমব যিিম্মর্ক পরােশ্ক। 

	■ 
	■ 
	SHSAT-এর জি্য নিরদতিষ্ট নরেু প্রি্যাশার িামথ আপিামর পনরনচি হবার নরেু পরােশ্ক এবং এরেমি যিগুনি অি্যাি্য গনণি বা ে্যাথ পরীক্ষা যথমর নভন্ন হমি পামর 

	■ 
	■ 
	ে্যাথ বা গনণি োনটিপি চময়ি (বহুচয়ি) প্রমশ্র উত্তর নদমি নিরদতিষ্ট নরেু পরােশ্ক 

	■ 
	■ 
	ে্যাথ নগ্রি-ইি প্রশ্াবিীর উত্তর নদমি নিরদতিষ্ট নরেু পরােশ্ক 


	দ্রষ্টব্য: িরি ে্যাথ িেু
	দ্রষ্টব্য: িরি ে্যাথ িেু
	িা প্রমশ্র উত্তর এবং উত্তমরর ব্যাখ্যা 23–25 পৃষ্ায় পাওয়া �ামব। 

	  গঠণত বা ম্যাথ-এ েক্তা বৃঠধির জন্য ঠকে পরামশ্য 
	➤ আপিার গনণি পাঠ্যবই (ে্যাথ যরক্সরবুর) ব্যবহার ররুি, ্ু মি অথবা আপিার স্ািীয় 
	গঠণত (ম্যাথ) উপকরণসমূহ 
	িাইমরেনরমি অি্যাি্য গানণনির উপররণ খুঁমজ নিি, অথবা আপনি ব্যবহার ররমি পামরি 
	পরাডলািনা।
	্য 
	এেি উপররমণর পরােশ্ক নদমি আপিার নশক্ষরমর অিু
	মরাধ জািামি পামরি। 
	➤ 
	➤ 
	➤ 
	প্রাথনের প্রশ্গুনি গনণমির দক্ষিামর আরও শনক্তশািী রমর য�েি ভগাংমশর িরিীররণ এবং পনরিংখ্যামির ধারণার প্রময়াগ। 

	➤ 
	➤ 
	অনধর চ্যামিনঞ্জং প্রশ্গুনির জি্য বহু-ধামপর জটিি িেীররণ বিরী ররা আবশ্যর হয়। 


	প্রঠতঠেন গাঠণঠতক প্রশ্াবলী 
	িামদর নবনভন্ন ধরমির গনণমির দক্ষিা ব্যবহারও আবশ্যর হমি পামর। উদাহরণস্রূপ, 
	সমাধান করা অনুশীলন করুন। 
	আপনি ভগাংশ ব্যবহার ররমি পামরি, িেীররণ িোধাি ররমি পামরি, এবং পনরিংখ্যাি 
	দমৌঠলক এবং ি্যাডলঠ্জং - উভয় 
	নবষময় আপিার জ্াি প্রময়াগ রমর এরটি প্রমশ্র উত্তর নদমি পামরি। 
	প্রকার প্রশ্াবলী সমাধান করুন। 
	➤ যরািও প্রমশ্র উত্তর নদমি �নদ আপনি অনিনচিি যহাি, িমব প্রশ্টি বাদ রাখুি এবং অি্য প্রশ্গুমিার উত্তর যদয়ার পর আবার যিরায় নেমর আিু
	ি। অি্য প্রশ্গুনির উত্তর যদয়ার পর, আপিার ঐ প্রশ্টির িোধামির জি্য আরও ভাি ধারণা হমি পামর। 
	 ম্যাথ দসকশডনর উত্তর দেয়ার সময় আপনাডক দরসব ঠবষয় মডন রাখডত হডব 
	গাঠণঠতক (ম্যাথ) শব্াবলী, ঠবঠভন্ন সংডকত, এবং সূত্র (ফমু্য
	লা) রা আপঠন ম্যাথ ক্াডস ব্যবহার কডরন দসগুডলা মুখস্ত করুন। 
	➤ আপিামর গানণনির শব্দাবিীর অথ্ক বুঝমি হমব �া আপিার যগ্রি যিমভমির জি্য উপ�ুক্ত, য�েি "প্যারামিি (িোন্তরাি)" এবং "পারমপনডিরু ্যিার (িেমরৌনণর), এবং এর পাশাপানশ ঐিব িংমরি �া এই শব্দাবিীর বদমি ব্যবহৃি হয়। 
	➤ আপনি গনণি-নবষয়র শব্দাবিী, িংমরি, এবং েেু্কিা পামবি, য�েি নবনভন্ন আরামরর জি্য যপনরনেরার (পনরনধ),এবং এনরয়া (আয়িমক্ষত্র), �া আপিার নিউ ইয়র্ক যস্টমরর নশক্ষণ 
	োমির 7 এবং 8 যগ্রমির ে্যাথ ক্ামির নবনভন্ন নবষময় ও অিিাইমি পাওয়া �ামব। 
	➤ এইিব শব্দাবিী, িংমরি, েেু্কিার িংজ্া এবং ব্যাখ্যা এই পরীক্ষার বুরমিমর পাওয়া �ামব । েুখস্ িা ররা এবং িাবিীিভামব ব্যবহামর িক্ষে িা হওয়া প�্ক
	িা

	ন্ত নবনভন্ন প্রমশ্র িোধামির জি্য এগুনি ব্যবহার ররা অিুশীিি ররুি। 
	প্রশ্ সমাধাডনর সময় ক্যালকু ডলের ➤ SHSAT যদয়ার িেয় র্যািরু মিরর ব্যবহার অিুমোনদি নয়। ব্যবহার করডবন না। 
	Figure
	➤ 
	➤ 
	➤ 
	পরীক্ষার আমগর নদি, পার্ক B-যি আপনি রিরা িেয় ব্যয় ররমবি যিই পনররল্পিা ররুি; এরা পরীক্ষার নদি প্রনিটি প্রমশ্র উত্তর যদয়ার জি্য আপিামর দক্ষ রমর িুিমি িহায়িা ররমব। 

	➤ 
	➤ 
	প্রশ্ যথমর িরি গুরুবেপূণ্ক িথ্য ব্যবহার রমর য�ি জটিি িেি্যাগুমিা িনঠরভামব িানজময় নিমি পামরি যিজমি্য �ত্নিহরামর পড়ুি। 

	➤ 
	➤ 
	িেি্যা িোধামির িেয় আপনি য�ি িরি িমথ্যর অন্তভু্কনক্ত নিনচিি ররমি পামরি যিজমি্য 


	গাঠণঠতক (ম্যাথ) সমস্যা সমাধাডনর জন্য পরামশ্য 
	প্রঠতটি প্রশ্ মডনাডরাগ ঠেডয় পড়ুন। 
	প্রঠতটি প্রশ্ মডনাডরাগ ঠেডয় পড়ুন। 
	িেুিা 1-এ য�ভামব আমে, যিভামব প্রশ্টি নচননিি ররুি। 
	➤ প্রশ্ যথমর শব্দিেূহ পনরবি্ক ি রমর গানণনির (ে্যাথ) িংমরমি রূপান্তনরি ররুি (য�ভামব িেিাু 1 এবং িেিাু 2-এ যদয়া আমে)। 
	Sample 1 
	+ x, x+1 = –15 
	+ x, x+1 = –15 
	tracted from the larger integer, what is the product of the two resulting integers? 
	The sum of two consecutive integers is –15. If 1 is added to the smaller integer and 2 is sub-
	িেি্যা িোধামি প্রস্তুনি গ্রহণ ররমি প্রশ্টি োর্ক ররুি। Sample 2

	J 2K J–5 
	J 2K J–5 
	Jenny starts a game with twice as many marbles as Keiko. Jenny gives Keiko 5 marbles, but she 
	Figure
	still has 10 more than Keiko. How many marbles did Jenny have to start with? 
	A. 25 B. 30 C. 35 D. 40 
	.প্রশ্ যথমর শব্দগুমিামর গানণনির িংমরমি পনরবি্ক ি ররুি। 
	দরসব প্রডশ্ আকৃ ঠত ও োয়াগ্াম দেয়া 
	দরসব প্রডশ্ আকৃ ঠত ও োয়াগ্াম দেয়া 
	দরসব প্রডশ্ আকৃ ঠত ও োয়াগ্াম দেয়া 
	➤ 
	প্রশ্টি �া বণ্কিা ররমে, যিরা রল্পিা ররমি আপিামর িহায়িা ররার জি্য, নিমচ উদাহরণ 

	দনই দসই প্রশ্গুডলার জন্য দসগুডলা 
	দনই দসই প্রশ্গুডলার জন্য দসগুডলা 
	অিু�ায়ী নবনভন্ন আরৃ নি অথবা যরখানচত্র (িায়াগ্রাে) আঁরু ি। 

	আঁকু ন। 
	আঁকু ন। 


	িেিা 3:


	L= 3x 
	L= 3x 
	W= 2x W= 2x 

	L= 3x 
	L= 3x 
	The perimeter of a rectangle is 510 centimeters. The ratio of the length to the width is 3:2. What are the dimensions of this rectangle? 
	E. 150 cm by 105 cm 
	F. 153 cm by 102 cm 
	G. 158 cm by 97 cm 
	H. 165 cm by 90 cm 
	.আরৃ নি (নেগার) এবং যরখানচত্রগুমিামি (িায়াগ্রাে) যিমবি নদি। 
	এডককবার একটি একটি ➤ যরামিা যরামিা প্রশ্ এরটি ধারাবানহর ধাপমর �ুক্ত ররমি বমি। নিমচর উদাহরমণর েি, ধাপ করুন। বহু-ধাপ নবনশষ্ট িেি্যাগুমিা িোধাি ররমি, এরটি এরটি রমর ধাপ নিখুি। 
	িেিা 4: 
	1 dollar = 7 lorgs 1 dollar = 0.5 dalt 
	Malik has 140 lorgs and 16 dalts. If he exchanges the lorgs and dalts for dollars according to the rates above, how many dollars will he receive? 
	A. $28 B. $52 C. $182 D. $282 
	140 7 
	= 
	Figure

	Figure
	Figure

	x1 7x=140 x=$20 
	x1 7x=140 x=$20 
	16 0.5 
	Figure
	= 
	Figure

	Figure
	x1 
	0.5x=16 
	x=$32 

	20+32=$52 
	20+32=$52 
	ধাপ 1: িগ্কগুমিামর (lorgs) িিামর পনরবি্ক ি ররুি। .ধাপ 2: িাটিগুমিামর (dalts) িিামর পনরবি্ক ি ররুি।
	 .ধাপ 3: আপিার পনরবি্ক িরৃ ি িগ্কগুমিা (lorgs) এবং িাটিগুমিা (dalts) য�াগ ররুি। 
	ম্যাথ মাঠটিপল্-িডয়স প্রশ্াবলীর জন্য পরামশ্য 
	অঠধকাংশ মাঠটিপল্-িডয়স 
	অঠধকাংশ মাঠটিপল্-িডয়স 
	অঠধকাংশ মাঠটিপল্-িডয়স 
	➤ 
	প্রথমে উত্তমরর অপশিগুনি যদখার আমগ িেি্যাটির িোধাি যবর রমর উত্তমরর 

	প্রশ্াবলীর জন্য অংক-কডষ 
	প্রশ্াবলীর জন্য অংক-কডষ 
	অপশিগুনি যদখা অনধর রা�্করর এবং িারপর িনঠর উত্তরটি যপমি শুদ্িা �াচাই ররার 

	ফলাফল দবর কডর উত্তর দেয়া 
	ফলাফল দবর কডর উত্তর দেয়া 
	যচষ্টা ররা উনচি। 

	উঠিত। 
	উঠিত। 


	➤ আপনি �খি উত্তরটি যপময় �ামবি, এরপর িানিরাভুক্ত জবাবগুমিা যদখুি। আপিার উত্তরটি �নদ িানিরাভুক্ত জবাবগুমিার েমধ্য থামর, যিরা নচননিি ররুি। �নদ িা থামর, প্রশ্টি আবার পড়ুি এবং পুিরায় িোধাি ররুি। 
	কাগডজ ঠলডখ সমস্যাগুডলার সমাধান ➤ আপিার উত্তর �নদ উত্তমরর অপশিগুনির েমধ্য িা থামর, আপিার উত্তরটি 
	5
	দবর করা (মডন-মডন ঠহডসব না কডষ) 
	অি্যভামব যিখা নবমবচিা ররুি। উদাহরণস্রূপ; 
	(3 + x) উনলেনখি িবগুমিার 
	9
	এবং বাোই করার পঠরবডত্য িোধামি 
	িেোি: 
	মডনাঠনডবশ করা হডছে দরেষ্ উপায়। 5(3 + x)5 
	5 9
	x এবং 
	55x 
	 +
	3

	9
	।
	এবং 
	 +
	3

	9: 
	➤ এরপরও �নদ আপিার উত্তরটি, উত্তমরর অপশিগুনির েমধ্য িা থামর, িাহমি আপিার িমবাচ্চ অি্ক ু ি।
	োিটি যবমে নিি এবং/অথবা িেয় থারমি পমর আবার এই প্রমশ্ নেমর আিু 
	Sample 1 Explanation 
	If x is the smaller consecutive integer, then x +1 is the larger consecutive integer. Use their sum −15 to find x: 
	x + (x + 1) = –15 2x + 1 = –15 2x = –16 x = –8 
	The two consecutive integers are −8 and −7. One is added to the smaller integer: −8 + 1 = −7. Two is subtracted from the larger integer: −7 – 2 = −9. Find the product: –7 × –9 = 63. 
	Sample 2 Explanation 
	(D) Set up some equations. 
	Jenny (J) has twice as many marbles as Keiko (K): J = 2K Jenny gives Keiko 5 marbles, so now they each have: J – 5 and K + 5 marbles. Jenny still has 10 more than Keiko: J – 5 = (K + 5) + 10 
	To find how many marbles Jenny had to start with, solve J = 2K for K and substitute that into the second equation: 
	J
	In equation J = 2K, solve for K: K = 
	In equation J = 2K, solve for K: K = 
	2
	2
	. 


	J
	Substitute in for K.
	J – 5 = (K + 5) + 10 
	2 

	J – 5 = ( + 5) + 10
	J 

	2 
	J
	J – 5 = + 15
	2 
	2 

	J 
	= 20
	= 20
	2 
	2 


	J = 40 marbles 
	Sample 3 Explanation 
	(F) Let 2x = the width and 3x = the length. Draw the rectangle to help visualize. 
	3x 
	2x 
	2x 
	3x 
	Since 2w +2l = P, we get 
	2(2x) + 2(3x) = 510 4x + 6x = 510 10x = 510 x = 51 2x = 102cm and 3x = 152 cm 
	Sample 4 Explanation 
	(B) Use proportions to make the conversions: Lorgs to dollars: 
	7
	140 

	 = 
	x 7x = 140 x = $20 
	1 

	Dalts to dollars: 
	Dalts to dollars: 
	0.5
	16 

	 = 
	x 0.5x = 16 x = $32 Total dollars = 20 + 32 = $52 
	1 

	গনণি বা ে্যাথ যিরশিটিমি পঁাচটি নগ্রি-ইি প্রশ্ রময়মে য�গুমিার জমি্য নশক্ষাথথীমদর রেনপউমরশিাি (গণিােূির) িেি্যা িোধাি ররমব এবং িামদর োনটিপি চময়ি অপশমির পনরবমি্ক িনঠর গানণনির উত্তর প্রদাি ররমি হমব। ➤ প্রনিটি প্রমশ্র নগ্রি পঁাচটি রিাে (স্তম্ারার) নদময় বিনর। �খি আপনি নগ্রমি আপিার উত্তরগুমিা নিনপবদ্ ররমবি, বাে নদর যথমর শুরু ররুি। ➤ প্রনিটি নগ্রি-ইি প্রমশ্র জমি্য, নগ্রমির উপমরর বমক্স আপিার উত্তরটি নিখুি। ➤ প্রনিটি বমক্স শুধু এরটি িংখ্যা অথবা দশনের নচনি নিখুি। �নদ আপিার উত্তমর দশনের পময়ন্ট থামর িাহমি "." নচনি ব্য
	➤ নগ্রমির বামে প্রথে রিােটি (স্তম্ারার) শুধুোত্র নবময়াগাবের (যিমগটিভ) নচনি যিখার জমি্য, উোহরণ C-এ য�ভামব যদখামিা হময়মে। �নদ আপিার উত্তরটি ধিাত্মর (পনজটিভ) হয়, িাহমি প্রথে রিােটি খানি রাখুি এবং নবিিীয় রিাে যথমর আপিার উত্তর নিনপবদ্ ররুি। EXAMPLE C (Answer: –1.5) Negative sign ˜ Decimal point ° ➤ �খি আপিার উত্তমর এরটি দশনের থারমব, িখি আপনি য� বৃত্তগুমিা পূরণ ররমেি যিগুমিা য�ি আপিার উত্তমরর িবগুমিা অংমশর িামথ নেমি িা নিনচিি ররুি। উদাহরণস্রূপ, �নদ আপিার উত্তর 0.78 হয়, িাহমি 0, ".", 7, এবং 8, এর নিমচর বৃত্তগুমি
	➤ যরামিা উত্তমরর োঝখামি যরামিা বক্স খানি রাখমবি িা। �নদ আপিার উত্তমর োঝখামি এরটি বক্স খানি থামর, িাহমি উত্তরটি ভুি নহমিমব য্ার ররা হমব। উদাহরণস্রূপ, �নদ আপিার উত্তর 308 হয়, িাহমি উোহরণ F হমছে আপিার উত্তর যদয়ার গ্রহণম�াগ্য উপায়। উোহরণ G-এ, 0-এর পনরবমি্ক 3 এবং 8-এর োঝখামি এরটি বক্স খানি রময়মে, —আপিার এভামব যদয়া উত্তর গ্রহণম�াগ্য হমব িা এবং ভুি নহমিমব য্ার ররা হমব। EXAMPLE F (Answer: 308) EXAMPLE G (Answer: 38) ➤ অব্যবহৃি বক্সগুমিার নিমচর যরাি বৃত্ত ভরার ররমবি িা, উোহরণ H-এ য�ভামব যদখামিা হময়মে। উদাহরণ H
	➤ আপিার উত্তমরর জি্য য্ার যপমি, নগ্রমির বৃত্ত অবশ্যই ভরাররৃ ি হমি হমব। ➤ �নদ আপনি উত্তরটি বমক্স নিমখ থামরি নরন্তু নগ্রমির বৃত্তগুমিা ভরার িা রমরি, িাহমি আপিার উত্তরটি ভুি নহমিমব য্ার ররা হমব। ➤ আপিার বমক্স যিখা উত্তমরর িামথ য� বৃত্তগুমিা ভরার রমরমেি যিগুমিা িা নেমি, িাহমি আপিামর বৃত্তগুমিা অিু�ায়ী য্ার যদয়া হমব, উদাহরণ H-এ য�ভামব যদখামিা হময়মে। ➤ �নদ এরটি রিামের (স্তমম্র) জমি্য এরানধর বৃত্ত ভরার ররা হয়, িাহমি আপিার উত্তর ভুি নহমিমব য্ার ররা হমব। ➤ শুধুোত্র িম্ূণ্কভামব িনঠর গানণনির উত্তরমরই িনঠর নহমিমব য্ার
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